N of reco track vs dxy(PV)

| N of associated (recoToSim) tracks vs dxy(PV)

N

of associated (recoToSim) looper tracks vs dxy(PV)

510 15 20 25
track dxy(PV) (cm)

track dxy(PV) (cm)

track dz(PV) (cm)

1%} F 0 F %] F 4]
X F . X F X E X
i H 8 o g g
S10°F - S10°F 5 £
E g F ) 2
i R = g
10°F E =
E E S
F F o
10°F 3
10%F 3
10f
-
g +F o 2
T I 3
o o o
- I+
0. 0.95/ 0. PN NI
5 10 15 20 25 =25~ 20 15 10 5 O 5 10 15 20 25 =25-20-15-10 -5 0
. track dxy(,P)L). (cm) track dxy(PV) (cm)
oPd |||
opal—|
opal—l
opal—| v (Pv)
R kY
g g
510 =
[} Q
8 g
2
10° 3
10?
10
1
g+ g+
T T
o4 14
bl
095k Lt .05kttt i R
1 0. =1-0.8- 0.4 0. =1-0.8-0.6-0.4-0.2 0 0.2 0.4 0.6 0.8
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
[N of associated (recoTosim) tracks vs dz(PV) ] N of associated (1ecoToSim) looper racks vs dz(PV) |
%] 4] F %] 4]
2 L 2 g
8. s g 5[ 3 8
£10° £10° 5 £
[ Q [}
E g g
10* 10* g
=]
=l
10° 10°
10°F 10°F
10f 10 -
15'" 1 I 1 1 15'" """"""""""""" 17 -
Qv o+ o o
T T T T
o o 4 o
- +i - REae
0.051 : : : : J 0.051 : : : d 0.051 : : : 0.05! : ] :
=30 -20 -10 0 10 20 30 =30 20 30 =30 -20 -10 0 10 20 30 =30 -20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper racks vs dz(PV) |
1%} 0 1%} 4]
4 < - < B4
[=} [*] Q [=}
g g 8 8
[ Q Q
£ 8 g
£
3
©

0.5 1
track dz(PV) (cm)

0 0.5 1
track dz(PV) (cm)

o U
3
14

TR
AN

.5 0

IO

track dz(PV) (cm)

0.95/

LN
o

o 0 05 1
track dz(PV) (cm)




	Contents
	Page 1


